
1. Fill in the blanks. 

a) 18 + 2= 9 

b) 25 + 5= 5 

2. Divide and find the Quotient. 

i) 

5 25 5 
- 25 

3. Complete the table: 

Division Fact 

40+5 =8 

36+ 9 =4 

2x7=14 

0 

Ans: 14+2=7 

14÷7=2 

5. Word problem. 

Ans: 5)306 

Subject: Mathematics 

30 

CLASS II 

Ans: 6 cas 

Q=5 

Dividend 

4. Write division fact for each of these multiplication facts 

40 

36 

6 427 
-42 

Divisor 

5 

Q=7 

5 people can sit in a car. How many cars will be needed for 30 people? 

Quotient 

4 
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